B77=FTIl=T—-ILAHBACIUKEIRFOL FOE—-

]E’LQR\.{* RT a (102)
P= V —_b V?2
(88) &¢I ) {V : V} VR_Tb+Va2:Va2 - jduzj\%dv

U :—\7+ f(T) (103)
ERTILILAD—EERE

oU ,
@) v

f(T)=C,T+w

U=CT-Z+w (108



dQ 1 1 a 1( RT a
L - ~{c,dT+Zav |+ 2| —— 2 lav
ds === =(dU + pdv) T(C\, v ) T(V—b sz

S=C, logT +Rlog(V —b)+const.  (105)

@ [EfiEAE (FX-FOE—B ) dS=0, S=const.
C, logT + Rlog(V —b) = const.

R

T(V —b)* =const. (106)

27 7 P=FiL-T—IL RBHER -
CiES>ReE RERN
kEnE (p+\%j(\/ —b)=RT pV =RT

I>kOE— S=C, logT +RlogV -b)+c. | S=C, logT +RlogV +c.

R R

EiEBIEON TV —b)> =const. TVS = const.




BVE BNhERT Il

17. BRAIRILF— (AILLFKIL/OBAIRILF—)

T Q

L=-AU +Q (108) ‘
- |
£ (73de3‘” BHFENOR s

IA?Q§S(B)—S(A)
1 B g
?jAd'Q§S(B)—S(A) i
Q :jfd'Q <T{S(B)-S(A)}  (109)

4




L<-AU +T{S(B)-S(A)} p
=—{U(B)-U(A)}+T{s(B)-S(A)}
=U(A)-TS(A) - {U(B)-TS(B)}

=F(A)-F(8)
=—AF (112) Y,
F=U-TS (111) a4

BRAIRILF— (AILLEKILIOBAIRILFE-)

A-BNDmBIE : RMTHHBIFEBRAIRILF—ARPICEFLL)
A-BAFRDHBTE : BRAIRILF—ARPIERMTHIGEALRZES RS
NFNGR : L=-AU (107)
RANFHGR: L<-AF (112)

RANFNGROBAIRILY (3.
NFENGRAIRILF—ERROREIET .



OtFE L -0 ARG (FRAK®E)

T ¢Q
0<F(A)-F(B) = | =0
F(B) < F(A) (113) MNFNR

ROARTOMRERNEMETS. FENFNICIFMILLTIT.
MRCHBEI IS EhGL\ETNIF. CORNBBAIRILF—IF
1BIEORICHENT 2 EF 6.

\

BRAIRILF-HRIMEEE > TLINIEF. REFTEFHAKRECHS

ERCHONEF L=-0 GOT. NFEFHEICAFNCRNERTON
BICELTHN S EZEOFRHORMEF. BRAIRILF—RINESGD

F BFERBNFRT 2~ ILET FIFND



